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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test for the Ministerial Staff
Name of the of the Department of the Economics and | 075 |
Test: Statistics (With6ut Books) -~

Maximum Time: 2.30 Hour .~ Maximum Marks: 100="
IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qaren@m euens efenmégmer
Read the following instructions carefully before beginning to answer the
questions.
emésErde el walésd ASTLRIGD ey ST M8 6m6eTd
SEUMTLOMSL Lilg $&6)LD.

1. This computer based Test contains 100 number of questions in objective
Type.

Qbss saell aufls Cajeumsg), 100 QameT@M euemaUNeOmsT eN6uTTaS6meNTd:
Q& TETIIL_ 5.

2. Answer all questions. Each question carries one mark
SIMTSG  NTESEEGLL el Wefdsa)ib @alleur@ eflarmeyd (m
LHIQUETT 2_emL_ Uig).

3 In case of doubt, English version is the Final.
aNeTésHeMNed  FHCHHD @ (L Tedr h&le  augeNled QsT@SSIUL BeTear
efermésCor Qm)Huimen s,

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.
Qns ellemsseaflsd @Lib Qubmyerer Q468 Lmedlenid Geufleir eumiysens sefled
Caemauliug e,  &WewsCamHU  Ques umeSleord geuflelt UM em s s EnLh
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

eleTuIemIILSTTSH6T  &6veilenf) afly GCaialne oloLwalsssd QFTLRiED
et samafluflsr  Hanguied Camaimib  siMeyenrssmer  HeuaTLONSL]
Ug.&&aLD.

a) One question will be displayed on the screen at a time.
@Gy CupdHed @@ efarmm wI GG ssiefls Henqued Camemb.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



Qc ¥

If each and every unit of population has equal chance of being included in the
sample, it is known as
wowsdsTEHula eder o piysa ga@arapn wrHAdad @b GupeuspseTar
gsoeumitieoul Qupd@masd wrdlssafliy pep
(A) Restricted sampling

cuenguenLw rdflésentliy

(B) Purposive sampling
CuréspeLw wrdfé searfliy
Simple Random sampling
gngmyenr grawmL b wrdfl sefliy

(D) None of the above
Beeu ergibldvene

Five establishments are to be selected from a list of 50 establishments by systematic
random sampling. If the first number is 7, the next one is

50 Guir Qarerr Hpeuarsder @ Ul gudGbg 5 Cuey, peap sribs wrdflé senfliiy
wape Csbosnés Cauan@in. Sibpanuie (g e 7 erafied i(H\Ss eremn

(A) 8 ) 16

) 17 D) 21

A simple table contains data on

e ereflu S Leuanenruileh 2 erar eflauybiger B (m&ESD.

(A) Two characteristics (B) Several characteristics
@ AprifwdyCarm@ ue ApuQuersGerr@

\(9/\0ne characteristics (D) Three characteristics
@@ Hpuibue Gur® aparmy ApLndwdysGart

Which of the following is one dimensional diagram
Getreu(meuaTeubmIGT eTgl @ Lflomenr eSleTésliLL D HGD

(War diagram (B) Pie diagram
Ll el efler&sluL LD cul L aligeu elileTdsiiL b
(C) Cylinder (D) Histogram
2_(HenarT ugeusd GFueusHLD
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5. Which of the folowing represents median?
Weneumeuaraupier @earLblene erengd@hssng) ?
(A) First quartile )| Fifteenth percentile
PHD STemaLd 506ug) mIHmILTETD
(C) Sixth decile (D) Third quartile
< fle ulemomenid (PETDHTLD STELONGTLD
6. Shoe size of most of the people in India is No. 7 which measure of central value does

it represents?
@pdwreiled o emer QuepbLTQTaT whsalar srowamiuler oerey ear 7 aafld Gg ewuw
wduyseiie eps etameaus GHLGES DS

(A) Mean (B) Second quartile
gymal @) yeRTLmD STELDTETLD
(C) Fifth decile D ode
mbsTeug LS eTomerid L0
T When one regression coefficient is negative, the other would be
e Qsmuiiys Qs QhiE afiveapurs meEbGung wHpame Geioury GG
Bivariate (B) Positive
@ Cpiroenn
(C) Zero (D) Negative
LhgReluid erdliroenm
8. If modal value is not clear in a distribution, it can be ascertained by the method of

@ Lgeualed sl iger ALY Osalans Gome aaflid Wdaamb gCsgub W pepulied
eped (el Gup AP

grouping (B) guessing
Gsm@Lye wély apenp
(C) summarizing (D) trial and ettot
FHES PO L0506 wrH sHOD P
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10.

11,

12.

In a distribution S.D. = 6. All observation multiplied by 2 would give the result to
S.D.is

@ uraudar L alassnd = 6, adar wHuysmenyb 2-ud Qumss G e ub
L efergsrang

M 12 B) 6

(C) 18 D) 6

The mean of squared deviations about the mean is called
sal H&F syreMuledmbs QuPLLEL aiss ellasshsefidar srmefl

(A) S.D (M ariance

S Lefledsid wrmur@
(C) M.D (D) None
gyrefl eflegsid @eneu aTgiaydlerane

For a negatively skewed distribution, the correct inequality is
e flen GamiL Ljeugis@ sflwner swaflell wg?

(A) Mode < Median (B) Mean < Median

Ww&b < @anHleve gl [O& gymaf < Qe Hleve
(‘C}‘ Mean < Mode (D) None of the above

sl R &sgmef < aps@ Cupendw eTgia)b @eeane

If cov(X, Y) = 0 then
cov(X, Y) =0 aafléd

(A) X and Y are correleted

X wppib Y &@ @eoLCuw @ bhpey 2 6rarg
BY) X and Y are independent

X opmid Y &@ Qe Cu @ Hpey Qe
(C) None

Aauphléd ggiflerene
(D) X and Y are linearly related

X, Y Cpié Can_(pg @ariiyenLwg
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13. Limits for correlation coefficient
@LHmeys Qapeiler erebene

(M -1<r<1 B) 0=<r<1
C) -1<r<0 D) 1<sr<2

14. When the correlation coefficient r = £1 then the two regression lines
SUOpeysQau, r = £1 aafler @b o Ler Agmiyl Curs@s Dapeliler Fwerum_reaig)

(A) are perpendicular to each other
eeamé Qarary Qek@Essms @ HEsD
By coincide
pean&CaTeaTn @ emenrubd
(C) are parallel to each other
gam&Qsnam @aarGar_ms @ m&@LD
(D) none of these
Boupdled ergdlerenew

15.  If one regression coefficient is greater than unity then the other must be
gm oLar Qsriiyl Guisgs Osyellar wHuy améEE GCohulyBGHSTD,
whH@mrenprens
(A) greater than unity

eenmis@ GCudHul g (HéED
(B) equal to unity
I E FOWTE B)(H&HED
( ess than unity
RETNEGD GODeUTE B)(HHEGD
(D) none of these
@auphler ggib Gerena

16. The geometric mean of the two-regression coefficients b, and b, 1s equal to

@@ eLer Qsmiiyy Guné@s Qawssdr b, wppd b, Hwueapdler Cumssd

gymaflumeng
(A/' r ®) r’
© 1 D) r
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1.

18.

19.

20.

21.

Given the two lines of regression as 3X —4Y + 8 = 0 and 4X - 3Y =1, the means of
X and Y are

B 2Ler Qgruiyy Curses Can@aer 3X —4Y +8 =0 wpppw 4X -3Y =1, aaé
Qar@&sliul_pererg, X womb Y @er sl & syreflunerg

o Xx=-4Y=5 B) X=3Y=4

) X=2Y=2 D) X =4/3,Y =5/3

When a coin and a die are thrown, the number of all possible cases is
@M prenupb @ UseLwb erhGs afsiu@b Gurg ghuED edeor aflenareyserteir
T esoT et G ena

A 7 (B) 8

12 D) 0
on

Three dice are thrown simultaneously the probability that sum being 3 is

epeny LseoL s @hls afetiu@damer. oHd mpsd 3 HaLlughsmar blapsse,
A 0 ( 1/216

(C) 2/216 (D) 3/216

If P(A) = 0.5, P(B) = 0.3 and the events A and B are independent then P(A N B)is
P(A) = 0.5, P(B) = 0.3 Gugub A, B sriupp flapsélsar arafled, P(A N B) erenug

@A) 0.8 a7 0.15

(C) 0.08 (D) 0.015

The conditional probability of B given A 1s
Agu Qunmps B ararp fapsflsarar Hlupgman Hlapssa

P(A N B) P(A n B)
A T77) @ P(A)
Py B) P(Av B)
© Trm © @
7 117/DD/21
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22. Two events are said to be independent if
@ren® Papsflaer smtuppencu erafle
(A) each out come has equal chance for occurance
efenereayser geuGeumemd &0 eumiliysenerls QupBlHéEw
(B) there is the common point in between them
gamgHEb Gungeurs Ueraflenwts GuhOlHEED
( one does not affect the occurence of the other
genler Camppd wHpeupBlar Comppsast LTHsSng
(D) both events have only one point
Qe @Cr e yetaflenwis GubdlméEn

23. Variance of the random variable X is
gweumitiy wrhl X @eir wrmur’ L eTenel

@& E(x?)-[EX)} ®) [EX)f - E(X?)
© E(X?) D) [EX)f

24. Variance of the random variable X is Tlé its standard deviation is

@ sweumitiLy wrhluller LFeueLIg % arafley igerm S aflewssbd

1 1
(A) 256 (B) 32
(C) 1 m 1
64 i

25. The variance of a binomial distribution is
FEHDILYL UFeuele WmmiLImL_meg)

npq B) np
(C) npg D) 0

117/DD/21 8



26.

27.

28.

29.

The binomial distribution is completely determined if it is known
FHOIULLUTme ppewwns Hiamndss @eaea dgfpgmd Cumgb

(A) ponly (B) qonly

p bl q wL_(Hb
(C) pandgq (MD and n

p wHoibd q p wHoId N

If the poisson variables X and Y have parameters m, and m, then X +Y 1is a

poisson variable with parameter

m, wpmd m, eeauer X wpmb Y eep unister wrhlsefler LaTUM@esET erefld

X +Y erémp umigrer wrdlullenr LeTUeTEUWITETS)

A mm, (Bﬂ m, + m,
C) my-m, D) m,/m,

Poisson distribution is a
LIMUIETesT LITeued ¢(h

(A) continuous distribution
Qariréflumer Lreu
discrete distribution
saflss Lyeue
(C) either continuous or discrete
Qsr_iiéfluns Sdag saflss LTauRTs
(D) neither continue nor discrete
QarLiEflub Side safllss LTI B0

In normal distribution, skewness is
Quahleel uyeueier Cam' L seTey

(A) one (B('zero

Qe LpgRedluith
(C) greater than one (D) less than one
garen el Quilwg @arern el SPlwig
9
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30. If Zis a continuous variable the area under P(- » < Z < 0) is equal to
Z arenggb @zmit ol aafléd P(- o < Z < 0) Geir upliuenay

A 1 (B) 0.1

(gﬁ 0.5 D) 0

31. The mean of a normal distribution is 60, its mode will be
Quefeer uraudear grmefl = 60 aalle @ser WP&0H 2paTs)
(M/’EEO (B) 40
(€) 50 D) 30

32. For a poisson distribution
UmIEme Ujeuedlesr

(A) mean > variance v@ﬂ mean = variance
ggnefl > wrour® gynefl = wrpur@
(C) mean < variance (D) mean < variance
gymefl < wrmur@ gynagfl < wrpuT®

33. A measure characterizing a sample such as X or S is called
wrdfl sereandar uarsemmdu X deg S Gdieunn mpssuLEID

(A) Population &Y VStatistic

WP ®WLEEsTGS Yeraflullwe oiereneu
(C) Universe (D) Mean

Guyeir_b gymeil

34. The critical value of the test statistic at level of significance d for a two tailed test is

denoted by

Aptiysrar wlLb d o @m wamer Gergemaniear ie s Y
A Z,, ®) Z,

) Z,. D Z,,

117/DD/21 10



35.

36.

37.

38.

If Z is a normal variant critical value of |Z,| at 5% level of significance for two tailed
test 1s
Z earug @Quebleow urad wrh eaefled 5% Apuy srar wLL Serelld Gepean
Gargeenssnar Sitay s AU |Z,|erg
(A) 1.645 (B) 2.33
©) 2.58 @rf.96
Area of the critical region depends on
&irey s u@Huler uTLLTAIE Qgmens Fnibg)eTarg
(A)” size of type I error (B) size of type II error
Wsd auans Wenipuller sieTey @uarmb cuens Ganpuller sieTay
(C) value of the statistics (D) number of observations
yeraflulwed oiereneuufen odliiy sarLbs ereirenflsans
A wrong decision about H, leads to
a®Camer Hygm upd geuprer (pyey r(hiSsed eremig)
(A) one kind of error (wvo kinds of error
WsD euend e @rerLmb euens YenLp
(C) three kinds of error (D) four kinds of error
apeTpmb euens ey BIET&TD cuens Genip
t—distribution ranges from
t ugeuedenr ei&s:
(A -xoto0 (B) Oto
- Qo @epg 0 0 & @by =
HO -~—otow (D) Otol
-0 Qo Jopy 0@ @mpa 1
11 117/DD/21
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39. While testing the significance of the difference between two sample means in case of

small samples, the degrees of freedom 1is
Qn dp spsdiear syrefs@ssde Cu odear GCaupuriypsrar dpiy Gergeamanuer
Curg aueruhp urenassefier ereameanfilsms

A) n, +n, B) n +n,-1
(Cwn1+n2—2 D) n +n,+2

40. The »° test was derived by
7° Canpaarews sam® g dseui

(A) R.A. Fisher (B) Gauss
R.A. Q&g LD

(C) Karl Pearson (D) Laplace

A &rired Swiraedr Cavlieumei

41. Customarily the larger variance in the variance ratio for F'— statistic is taken.

F sareeuuie eaupssons Quilu wrgur® @ @) (HESLD.
(A) in the denominator in the numerator
Qam@Sulley uEGHue
(C) either way (D) none of the above
@) yesrig gD Beeu ergiaydlérenew

49. Standard error of the sample mean in testing the difference between population
mean and sample mean under ¢-statistic
T sarenauufen S @gmm@@gn@ﬁ gyrefégn wrHfl syrefsgd Qe Gu e drer
Asdwunssems CensemaniL 2 gajb wrfl syrefuier HL LGy

@ = of %
o S
© = ® =

117/DD/21 12



43.

44.

45.

46.

In the case of one-way classification with N observations and ¢ treatments, the error
degress of freedom 1s

N sarLfps wHoyser wpmib ¢ BLHS PODSEHD Qarar. @ el uTGUITLGd
Yenpsarer euenTuhHD LTHSSETTETE6U

A N-1 B) t-1

o N-t (D) Nt

Equality of several normal population means can be tested by
Lo @uafee ueowns Csred smefsdar sofleoamu <flu GeaLLOLED
Cangenar

(A) Bartlet'’s test (Bﬁ-test

uni Qe Cergener F Gengener
(C) x* test (D) t test
z* Gengeven t Gengemen

Percentage bar diagram has
speis ULl eflaTdslILL IETg)

uﬂf)' data expressed in percentages
Meurrasdr gseigsde sriiubdlerper
(B) equal width

FLD B&LD 2 _anL_Wienal

(C) equal interval
g0 Qe Geuafser 2 e weneu

(D) equal width and equal interval
g0 s, 10 GenL Qeuafl 2 e weneu

Quartile deviation is equal to
STOLTET 6Hl&ESDTETE

(A) Inter quartile range (B) double the inter quartile range
QenLsameonen eSFs @evL_sanewonear eiFflenr G LS
9\ half of the inter quartile range (D) none of the above
@erLsamewrer eiFfar LTS Cupamhw ergialb Geeme
13 117/DD/21
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47.

48.

49.

50.

51.

What percentage of values lies between 5t and 25t percentiles?

abg 55655 WAL Db yeug LHMID 25 Beig BIPNIOTETESEREES GaLuld Sewub?
A) 5% a!ﬂ 20%

(C) 30% (D) 75%

Probability can take values from
Hapsse; @umd WL &6

(A) - to+w® B) -wotol

— o @al(mhg eueny + © U — o @e(mbg 1 euany
(C) o, 0to+1 (D) -1to+1
A 0 @eSimpbg 1 eueny -1 @(mpg +1 eueny

A random variable X has E(X) = 2 and E(X?*)= 8 its variance is
en soaminy orh X @d E(X) = 2, E(X?) = 8 eraflé oigen wrpumLereey

,6)'4 B) 6

€ 8 D) 2

Testing H, : 4 =100 vs H, : u # 100 leads to
H,: u =100 &g wiprs H, : 4 # 100 eerp Cengamen

(A) one sided right tailed test (B) one sided left tailed test
m poa-ae (paear Gergaar @M paoa-@Lpaer Cengenar
two tailed test (D) none of the above
B pemen Gergenar JHIb @eene

If all the units of a population are surveyed it is called
@M  PUYoLsAsTGHWd edar  ee@r 2 MHIULSEHD seriiuenfl  puielne

TOESEQSTETETILILLTED) NG T SdP&SILIHEDS.
(A) Restricted sampling (Pﬂ Census
auanywenLw wrdfssamfliy W Wssailly pep
(C) Random sampling (D) None of the above
grertb wrdisasenfliy FgILbldene

117/DD/21 14



52.

53.

54.

55.

56.

The median of the following data 25, 20, 15, 45, 18, 7, 10, 38, 12 1s
Gesrqu(pLd eflleuraigerfler Qe fleve wuy wrg ? 25, 20, 15, 45, 18, 7, 10, 38, 12

18 B) 15
(C) 45 (D) 16.5

The middle value of an ordered series is called
g aflesu@ssriur L Agrifled pE wHUL erenig

(A) 2nd Quartile (B) 5th Decile

G yerLmb STELOMETLD ghsreug USeTomrerd
(C) 50tk Percentile A) All the above

50 eugl HIHmILOTEILD Cupaaflu SardsLd

If cov(x, y) = 0, o, then
cov(x, y) = 0, 0, aailé

0
—]

A) r=+1 ®B) r
r

(C) r=2 9"

The probability of not getting 2, when a die is thrown 18
@ usaL aSab Curg 2 deLsstod Qmés Hapssa

(A) (B)

S

The mean of a binomial distribution is 10 and the number of trials 1s 30 then
probability of failure of an event is

syrefl 10— pupdlsaiier eamefiéens 30-b 2w mEBULU ugeuade Ggrevellssrer
Blepssa

(A) 0.25 (B) 0.333

y 0.666 (D) 0.9

(©)

o= W=
o|lon WM

15 117/DD/21
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57.

58.

59.

60.

61.

The origin of statistics can be traced to
yereflullwe smsHer Campod sreriiul L @L b

( State (B) Commerce
28 cuenflgallwich

(C) Economics (D) Industry
Qumrpaflwed Qsmegiemm

A selection procedure of a sample having no involvement of probability is known as
fapsse eribdims wrdfs sefluy e

(A) Purposive sampling (B) Judgement sampling
GprésupeLw wrdfé seafluy L@ safluypenm

(C) Subjective sampling (D 1 the above
Qummer enipg sexfliy e Cupaadlw ereveomd

If the lower and upper limits of a class are 10 and 40 respectively, the mid points of
the class 1s
@ 9feder &b, G erdera wepGu 10, 40 erafld, Biger ewow gl

A) 15.0 (B) 12.5
(Cy 25.0 (D) 30.0

Ogives for more than type and less than type distribution intersect at
e ureudler Sflen euer wpmid Cuellar euert geseusaT Qeul_ iy &Q&TeTEmid @L b

(A) mean ﬂ medium
gymal @eLHlee

(C) mode (D) origin
L0 2%

If the grouped data has open-end classes, one cannot calculate
amsliLssuul L eagorargy  Sops  Gfley Qe GQeuaflsafid SiawbHE (HHSTE
Qereupeuaraupfled gCsgibd @etamp samsdl iy uTg

(A) gediaﬁr]l (B) mode
enLblenew &b
(C) ean (D) quartile
/‘&Illjrr&rﬂ SMELOMTETLD

117/DD/21 16



62.

63.

64.

65.

66.

Geometric mean of two numbers (—I—J and (i)
16 25

(%) HmID [%) erap @ eramsaflen QUmEEGE syTefumeg)

N (%) ® (55)

(© 10 (D) 100

In a symmetric distribution
FwsErmer ureueded

(A) mean # median # mode (eran = medium = mode
gynefl # @enLfleve # W&l syrefl = @enL_flevew = W&l

(C) mean > median > mode (D) mean < median < mode
syref > Qe flene > &b gyref < @avflewew < P&

The first quartile divides a frequency distribution in the ratio
s sTOLIAID @ SaGeia Ljaume Waamb alldssdd Gf&dmg

Aa 4:1 B) 1:4

(€y @avl mlzs

If r = 0 the cov(x, y) is
r =0 aefléd cov(x, y)

) O B) -1
© 1 D) 0.2

Product moment correlation was found by
SU Hney Qapemed sTamib (peDPWs s@TLHlbseu

(A) Spearman (B) Galton
e GwirGuoesr SITEDL_6tT
(®)) earson (D) Fisher
W rener Slag it
1%

117/DD/21
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67. The lines of regression intersect at the point
o Lar Qgriryl Cunées Canhad garapGuner Qeul g&QsmerEnd Lerallsarmeng)

@ (X Y) 7B X7Y)
© (0,0) O @1
Ee Ifb, = —g, b, = —% then the correlation coefficient, r is

3 3 : .

b,, = —3 b, = -3 aafler @UOpeys Qawp, r yarg

@ 2 ;) -2
2 2
9 9

Cc) = D) --—

© 1 D) 1

69. Probability of drawing a spade queen from a well shuffled pack of cards is
BeE GREEIULL @ & Ass 4 dBhs @@ ‘@G rrefl QupeugpaTer Hapsse

@ - S L

13 52
4
© 3 D) 1

70. A coin is tossed 6 times. Find the number of points in the sample space
S premwid 6 gpep serLu@Ang erafler sapQeueflulicr e drer Gonsg LerefladT

A 12 B) 16

©€) 32 vPh) 64

71. The moment generating function for the discrete random variable is given by
saflss swamiliy wifésrer dlosst QUBESS DFTSs 2 (HTEESD ST

@ o IR
©  [xf(x)dx D 1

117/DD/21 18



72,

73.

74.

75.

Regression coefficient is independent of
o et Qg Guné@s Qseunang sTTubHDS

14‘ onikin B) scale
< Hudléd SemeliLiq.6
(C) both origin and scale (D) neither origin nor scale
<8 wHHID HeTei(R @) yeriqed Ay @oame Ieralb Gdme

9\¥ (115X 9
The mean of the binomial distribution 15CX(§] (g) in which p = 3 18

2 X 1 15-X 2
F(BHILLL UFeued 15CX(—§J [-5] arafléd p = 3 gyreflureng)

A) 5 10
C€) 15 D) 3

The variance of a binomial distribution is 2. Its standard deviation is
rooILYY ugeualar wrpur® 2 aefld sigear S aladsnd

(A) 2 B) 4

©) % O 2

Poisson distribution is a limiting case of Binomial distribution when
FHOUY  uredler adee Hoeursl umiETeT UTMd @SS Caaneuwimer

Blubsener

(A) n—)oo;p—->0andnp=\/a (B) n—)O;p-)ooandp=%1
n—>oo;p—->0m'r_f)gm.bnp=«/; n—>0;p—>oom,r_f)gubp=1m

(C) n—ow;po>wandnp=m (B) n—>o p—>0and np=m
n—w; p—> o wHpmb np =m n— o p—>0 vopbd np=m

19 117/DD/21
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76. The normal distribution is a limiting form of Binomial distribution if
QueBear Lrad, FHNLLD Ljaiar admo Faowrs Comawner Flubsmer

(A) n—>wo;p-—>0

B) n-o>0p—>gq
q n — o and neither p nor g is small
D)

n—>w;,p-—o>n

77.  Mode of the normal distribution is
QueBleneots ugeuedlen wps@H

A) o (B)

1
2r
O M) 0

78.  The probability that a random variable x lies in the interval (u-20, u+20) 18
soeumiitiy wrd x—ar wHiyser (u-20, u+20) 6D e Qaialsgdr ghuBHEID

Hapssey
0 09544 (B) 0.6826
(C) 0.9973 (D) 0.0027

79. The standard error of the mean is
gymefluler HLben

A o’ (B)

sl e

L = (D)
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80.

81.

82.

83.

84.

Critical region is
Siey sLL LEGH eraTUg)
Rejectipn Area (B) Acceptance Area
LNI&EEGD UGS THGD UGS
(C) Probability (D) Test Statistic Value
Hlaspssa) Gengenants yarafluliued wdliiy
Large sample theory is applicable when
Quprempmis Cariuri el LweaubSgieg auCung erafléd
w) n>30 B) n<30
(C) n<100 (D) n <1000
For Binomial distribution, Standard error of number of success is given by
rpouy uyeueler, Qeaipdaafien crarafsmadssmear FrnGepuneng
@ 4B @ npg
(©) npq O 2
q
Student ‘¢ distribution was pioneered by
au@Larr t-ugeueder (perGarmy.
(A) R.A. Fisher (B) Karl Pearson
R.A. Qagir &mired Nwrenesr
( W.S. Gosset (D) Laplace
afevellwib S. srGlevi QTLIQTED
The difference of two means in case of a small sample is tested by the formula

Sy spseflar @@  synsfsEpsdaomen Caupur®  @eueumiiiumLme

GendsaruBEpng

X, - X. }?-)_fln +n

AL = 2 B 1 2|y + 1y

& S &) S n, + n,
f’ ¢ = X, ;)?2 M, D). t = U
ln1+n2 - n, +n,

21
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85. -
The test statistic F' = % is used for testing
2

2

F=—S—1§ aerp Gengemar Leteflufwed jearaneu g Gergeer Qewiwil)
2

vwerLhEDSI.

(A Hy:m = WH:;:G%US

Cy H,:o =0; M) H,:o0®=o0;

86. Which measure of dispersion ensures highest degree of reliability?
2Hs BOLSS SHTDL|LET SATESD AN SeTeme W ?

(A) Range (B) Mean deviation
& gymefl eferésd
(C) QD S.D
smemer efle&sD S eflewssd

87.  All formulae in Excel sheet should start with
THFND DOWGFH GG ITEISEHD < AgrmasiiuL Gauam@ib.

@A) 0 B) m

© 1 vip =

88. menu contains the commands to manipulate data in a spreadsheet.
utgwe (Menu) gre @sUTE®@SSEE ULWETLHL &LL@arsmer
Qarar(pHereng).
W) Data (B) File
(C) Window (D) Format

117/DD/21 22



89.

90.

91.

92.

1
~/(xi> ! ®)

‘Statistics may be called the science of counting’ is the definition given by
yerefluwe ecamasdar sfleflued aTar A@PESLILLQMD  6TET)  eUTUMDELS
FaPlweu

(A) Croxton ) | A.L. Bowley
Sl yméenL_ebr o.ered. Guered

(C) Boddington (D) Webster
Guimig rL_etr QeulievLiT

When the collected data is grouped with reference to time, we have

Gesfasriur L efeug Cprsmss Qaram® Cem@s&sLLLLI® BLES

Dp(&LD.

(A) Quantitative classification (B) Qualitative classification
sjareilen euansliLBSSD uaen euenslLBEsed

(C) Geographical classification /q) Chronological classification

@)L b&mit euensIL(HSSD STLETT uansLILI(HSSD

The value of r? for a particular situation is 0.81. What is coefficient of correlation?
om GILALL @ (situation) r*ar wHuy 0.81 aalléd @rEpays Aawellen wiy

(A) 0.81 ?) 0.9
©) 0.09 D) 0.009

Probability of getting a red card from an ordinary pack of cards at random selection
soaumily opuld em 06 slydmba 6 L6 dssuuEDL Gurg sig fauy
Ppé &L Lns Qmés Hlebsse,

© 1 (D)

- I
ol
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93. Karl Pearson introduced the concept of standard deviation in the year
smie Gwiser S L dlasasams PWasluESSw aumLLD

(A) 1891 1893
(C) 1892 ) 1896

94. On an excel sheet the active cell in indicated by
aTHeve &g pslgel QFd erueurm Ggfluyw

(A) A dotted border A dark wide border
yerefl&ECammeomer LmiLi SiLiglurer L

(C) A blinking border (D) By italic text
\Slergth LimirLit MBS CT(PSS!

95. To insert three columns between columns A and B you would select
Hye (Column) As@ib Bs@id @eLuie epery fydsemer (Column) Gemél (insert)
ageer Csira Geiw GeuarBH b

ﬂ Column B (B) Column A and B
flyer B o A & B
(C) Column A, Band C (D) column B, C and D
flyéb A, Band C flyéo B, C & D

96. Refecting H, when it is true is called
sflwuner sapors @méEh Qurups H, aeaumg wpsEwh Ky,

Mtype I error (B) type II error

WD auenaiblenip @rasLmb euensliblenip

(C) sampling error (D) standard error
wrdfuder Geop A ufeny
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97.  When ‘n’ is large and o is unknown, o is replaced in the statistic by
wrdfl  <etey ‘7’ Quiilstseyd, o’ Gsflurogid @@mpsred AR L&TUETEMG
Gsrsemanie o’ ufars @LbQumeug)

(A) Sample mean \ﬂ Sample variance
wrdlfl symefl wrSil wrmur L aTeney

(C) Sample standard deviation (D) Sample proportion
wrdfl S eflessd wrHil eflflgson

98. Paired t-test is applicable when the observations are
ureusller @aenr Ganganenr LwaTLBSSH CauamG@wafled, G wrdflsafiar o miiLser

(A) Paired (B) Correlated
Cemgwrareney L (HDeuremrenay

(C) Equal in number All of the above
aratranfl&ensuiled FoLNE Beves SansgIons

99. If‘n’ is the degree of chi square distribution then its variance is
5L GTENLD FaMIGET N 2 LW s aiss Gergeenuler wrmur® wd iy sefler

A) n B) n-1

‘A 2n D) n+1

100. If the size of the sample is larger than 30, then ¢-distribution tends to
wrdfl sereunarg 30 g M fswrEb Qurg, t-ureueea QpmHbIEGuZ

(A) Normal distribution (B) F-distribution
Queblere ureued F-ungeuéd
Chi-square distribution (D) Poisson distribution
G UT&ESES LITeUe) LMV me LJeued
25 117/DD/21

[Turn over



